SPECIAL ORDINANCE NO. S-

AN ORDINANCE approving CONSTRUCTION CONTRACT – ILLINOIS ROAD TRAIL AND ROAD IMPROVEMENTS - (\$9,097,944.04) – between BUNN EXCAVATING, INC and the City of Fort Wayne, Indiana, by and through its Board of Public Works.

# NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:

SECTION 1. That the CONSTRUCTION CONTRACT - ILLINOIS ROAD TRAIL AND ROAD IMPROVEMENTS - between BUNN EXCAVATING, INC and the City of Fort Wayne, Indiana, by and through its Board of Public Works, is hereby ratified, and affirmed and approved in all respects, respectfully for:

All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary to IMPROVE ILLINOIS ROAD FROM THE RIGHT OF WAY OF INTERSTATE 69 TO ROCKHILL PARK WITH RESURFACING FROM GRAND NATIONAL DRIVE/MAGNAVOX WAY TO WEST JEFFERSON; WIDENING OF THE ROAD FROM GETZ ROAD TO THE AVENUE OF AUTOS; INCLUSION OF OFFSET TURN LANES AT FOUR INTERSECTIONS; NARROWING THE LANE WIDTH TO 11 FEET; AND CONSTRUCTING A 10-FOOT-WIDE MULTI-USE TRAIL FROM GETZ ROAD TO NORTH ROCKHILL PARK. THE PROJECT INCLUDES INTERSECTION IMPROVEMENTS, ROADWAY WIDENING, LANE NARROWING, MULTI-USE TRAIL, NEW CURB, RETAINING WALL, STORMWATER IMPROVEMENTS, MAINTENANCE OF TRAFFIC, TRAFFIC SIGNAL UPGRADES, ADA CURB RAMPS, PARK BENCHES;

involving a total cost of NINE MILLION NINETY-SEVEN THOUSAND NINE HUNDRED FORTY-FOUR and 04/100 DOLLARS - (\$9,097,944.04). A copy of said Contract is on file with the Office of the City Clerk and made available for public inspection, according to law.

| 1  | SECTION 2. That this Ordinance shall be in full force and effect from  |
|----|--|
| 2  | and after its passage and any and all necessary approval by the Mayor. |
| 3  |  |
| 4  |  |
| 5  | Council Member   |
| 6  | APPROVED AS TO FORM AND LEGALITY                                       |
| 7  |  |
| 8  | Malak Heiny, City Attorney   |
| 9  |  |
| 10 |  |
| 11 |  |
| 12 | *  |
| 13 |  |
| 14 |  |
| 15 |  |
| 16 |  |
| 17 |  |
| 18 |  |
| 19 |  |
| 20 |  |
| 21 |  |
| 22 |  |
| 23 |  |
| 24 |  |
| 25 |  |
| 26 |  |
| 27 |  |
| 28 |  |

|              |               |  |       |                | TOTAL:             | \$3,693,905.10 | TOTAL:       | \$9,097,944 04     | TOTAL:          | \$9,443,506.43 | TOTAL:       | 10 659,163,02      | TOTAL:       | \$9,773,670 00      |
|--------------|---------------|--|-------|----------------|--------------------|----------------|--------------|--------------------|-----------------|----------------|--------------|--------------------|--------------|---------------------|
|              |               |  |       |                |                    | V/334,517.72   | % ever       | 2 29%:             | % over          | 6.18%          | % 6767       | 8 55%              | % aver       | 9 89%               |
| Bid T        | abulat        | ion  |       |                |                    |                | % under      | D 00-W-            | % under         | 0.00%          | W under      | 0.03%              | % crater     | 0.00%               |
| Proj:<br>Bid |               | Panola Rd Tea I & Road Improvements              |       | RES. NO. / W.O | 6620R              |                | B!DDER:      | Bunn Excavaling    | B!ODER:         | E&B Paving     | B:00£R:      | Fleming Excevation | B:ODER:      | Brooks Construction |
| Date:        | ITEM          | (9/18/25<br>ITEM                                 | PLAN  | Es<br>UNIT     | Emate<br>UNIT COST | AVOUNT         | UNIT COST    | AVOUNT             | UNIT COST       | AVOUNT         | UNIT COST    | AVOUNT             | UNIT COST    | AWOUNT              |
| NO.          | CODE<br>105-  | HEM  | ary   | UMI            | Est (5)            | Est (\$)       | (\$)         | (5)                | (\$)            | (\$)           | (\$)         | (\$)               | (\$)         | (\$)                |
| 1            | 06845         | Construction Engineering                         | 1 .   | LS             | \$145,989 90       | \$145,989.90   | \$134,791.59 | \$134,791.59       | \$173,900.00    | \$173,900.00   | \$75,725 00  | \$75,725.00        | \$150,000.60 | \$150,000,00        |
| 2            |               | Vobilization and Demobilization                  | 1     | LS             | \$364,974.75       | \$364,974.75   | \$553,030,42 | \$553,030.42       | \$472,000.00    | \$472,600.00   | \$509,048.65 | \$509,048.65       | \$458,000.00 | \$453,009.00        |
| 3            |               | Inspection Hale, Deeper than 3 FL                | 15    | EA             | \$1,000.00         | \$15,000 00    | \$993.33     | \$14,899 95        | \$1,150.00      | \$17,250 00    | \$1,150 00   | \$17,250.00        | \$1,375.00   | \$20,625 00         |
| 4            |               | Inspection Hole, 3 ft Deep or Less               | 15    | EA             | \$750.00           | \$11,250.00    | \$571.56     | \$8,577.90         | \$920.00        | \$13,860.00    | \$920 00     | \$13,800.00        | \$825.00     | \$12,375 00         |
| 5            |               | Clearing Right of Way                            | 1     | ŁS             | \$72,994 56        | \$72,594.55    | \$64,264.78  | \$54,264.78        | \$86,047.67     | \$56,047.67    | \$324,458 00 | \$324,483.00       | \$85,000.00  | \$85,000.00         |
| 6            |               | Center Curb, Concrete, Remaye                    | 881   | SYS            | \$50.00            | \$44,050.00    | \$10.31      | \$9,683.11         | \$20 99         | \$18,492.19    | \$20.99      | \$16,492.19        | \$35 00      | \$30,835.00         |
| 7            |               | Sign Remove                                      | 20    | EA             | \$225.00           | \$4,500.00     | \$50.56      | \$1,611.20         | \$75.00         | \$1,500.00     | \$36.25      | \$1,725.00         | \$100.00     | \$2,000 00          |
| ð.           | 02000         | Common Excessation                               | 3050  | CYS            | \$50.00            | \$152,500.00   | 365 67       | \$200,293.50       | \$112.59        | \$343,399 50   | \$115.77     | \$353,653.50       | \$78.00      | \$237,900.00        |
| 9            |               | Ветом  | 1690  | CYS            | \$25.00            | \$47,250.00    | \$32.36      | \$61,160.40        | \$14.00         | \$26,450.00    | \$14 00      | \$25,450.00        | \$50.00      | \$94,500.00         |
| 10           |               | Storm Water Mynt Budget                          | 63587 | DOL            | \$1.00             | \$63,587,00    | \$1.00       | \$63,587.00        | \$1.00          | \$63,587.00    | \$1.00       | \$63,587.00        | \$3.00       | \$53,587.00         |
| 11           |               | SWOCP Stormwater Myre Implem                     | 1     | ŁS             | \$21,360.00        | \$21,360.00    | \$49,509 89  | \$49,509.89        | \$9,938.20      | \$9,936.20     | \$3,220 00   | \$3,220.00         | \$1,500.00   | \$1,500.00          |
| 12           |               | SWOCP Preparation                                | 1     | LS             | \$15,000 00        | \$15,000 00    | \$3,007.70   | \$3,007.70         | \$2,800.00      | \$2,500.00     | \$20,700.00  | \$20,700.60        | \$2,600.00   | \$2,800.00          |
| 13           |               | Subgrade Treatment, Type II                      | 12200 | sys            | \$20.00            | \$244,000.00   | \$20.91      | \$255,102.00       | \$9.2           | \$112,606.00   | \$9.23       | \$112,606.00       | \$16.00      | \$195,200.00        |
| 14           | 211-<br>09264 | Structure Backfill, Type 1                       | 631   | CYS            | 570 00             | \$44,170.00    | \$65,16      | \$41,115.96        | \$40.3          | \$25,479.78    | \$40,40      | \$25,492.40        | \$75.00      | \$47,325 00         |
| 15           |               | Geolestie for Pavemers, Type 2A                  | 3385  | SYS            | \$8.00             | \$27,080.00    | \$4.76       | \$16,112.60        | \$7.07          | \$23,931.96    | \$7.07       | \$23,931.95        | \$3.75       | \$12,693.75         |
| 16           |               | Compacted Aggregate, Na. 53, Yempotary Driveyaya | 300   | TON            | \$50.00            | \$18,000.00    | \$26 65      | \$7,995 00         | <b>\$</b> 37.37 | \$24,711.00    | \$35.20      | \$10,550.00        | \$49.50      | \$13,950.00         |
| 17           |               | HVA Patching, Full Depth, C (Undstributes)       | 2000  | TON            | \$200.00           | \$400,000.00   | \$322.25     | \$844,500.00       | \$300.00        | \$500,000 00   | \$345.00     | \$690,000.00       | \$201.00     | \$402,000.00        |
| 18           |               | HVA Patching, Partial Depth, C (Undistributed)   | 1080  | TON            | \$190.00           | \$205,200 00   | \$214.84     | \$232,027.20       | \$200.00        | \$216,000.00   | \$230.00     | \$248,400.00       | \$229.00     | \$247,320 00        |
| 19           |               | Viirg Asphalt 1 1/2 in.                          | 11958 | SYS            | \$300              | \$35,874.00    | \$3.76       | \$44,962.08        | \$3.50          | \$41,853.00    | \$3,44       | \$41,135.52        | \$2.10       | \$25,111.60         |
| 20           |               | Viling Asphalt, 4 in.                            | 77468 | sys            | \$4.00             | \$309,864.00   | \$4.30       | \$333,103.60       | \$4.00          | \$309,864.00   | \$3.69       | \$285,849.54       | \$4.60       | \$371,836 60        |
| 21           |               | Wing Asphall, 1 in to 4 in                       | 13562 | 5YS            | \$5.00             | \$67,810.00    | \$7.47       | \$101,368.14       | \$7.40          | \$100,358 80   | \$5.48       | \$74,319.76        | \$3.75       | \$50,857.50         |
| 22           |               | Viting Transition                                | 675   | SYS            | \$5.60             | \$3,125.00     | \$3.76       | \$2,350.00         | \$3.50          | \$2,187.50     | \$3.27       | \$2,043.75         | \$475        | \$2,968.75          |
| 23           | 431-<br>11526 | Joint Achesive                                   | 55457 | UFT            | \$9.50             | \$27,728 50    | \$928        | \$15,527.96        | \$0.26          | \$14,418.82    | \$0.30       | \$16,637.10        | \$0.36       | \$19,954.52         |
| 24           |               | HVA, B, 585, Base, 25mm                          | 1654  | TON            | \$60.00            | \$132,320.00   | \$105.27     | \$174,116.58       | \$93.00         | \$162,092.00   | \$112.70     | \$1,66,405.60      | \$115.00     | \$190,210.00        |
| 25           |               | HNA Wedge and Level, Type C                      | 52    | TON            | \$60.00            | \$4,160,00     | \$161.13     | \$8,378.76         | \$150.00        | \$7,600,00     | \$172.50     | \$8,970.00         | \$100.00     | \$5,200.00          |
| 26           |               | HUA for Temporary Pavement, C                    | 3000  | YON            | \$90.00            | \$270,000.60   | \$105.27     | \$315,610.00       | \$93.00         | \$294,000,00   | \$112.70     | \$338,160.60       | 858 GC       | \$258,000.00        |
| 27           |               | HVA. C. 58S, Surface, 12 Smm                     | 9090  | TON            | \$50.00            | \$727,200.00   | \$93.45      | \$849,450.50       | \$97,60         | \$790,830.60   | \$100 05     | \$909,454.50       | \$85.00      | \$772,650.60        |
| 28           | 402-<br>FV/R1 | HVA, C, 56S, Intermed , 19mm                     | 13908 | TON            | \$85.00            | \$1,182,180.00 | \$59.16      | \$1,242,037.28     | \$83 00         | \$1,154,364.00 | \$95.45      | \$1,327,518 60     | \$55.00      | \$1,182,180.00      |
| 29           |               | Asphat for Tack Coat                             | 44    | TON            | \$500.00           | \$22,000.00    | \$587,47     | \$30,249 68        | \$642.00        | \$28,160.00    | \$735.00     | \$32,384.00        | \$1,020.00   | \$44,680.00         |
| 30           |               | Grandrall, Remove                                | 53    | ĻFT            | \$30.00            | \$1,590.60     | \$53.71      | \$2,846.63         | \$50.00         | \$2,650,00     | \$27.63      | \$1,474.99         | \$50,00      | \$2,650.00          |
| 31           |               | Fence, Pedestran                                 | 160   | UFT            | \$80.00            | \$3,000.00     | \$152.26     | \$15,226.00        | \$141.75        | \$14,175.00    | \$120.75     | \$12,075.00        | \$141.75     | \$14,175 00         |
| 32           |               | Side 43 %, Concrete                              | 949   | sys            | \$105.00           | \$99,645.00    | \$90.44      | \$95,827,56        | \$94.4          | \$40,124.07    | \$56 82      | \$91,882.18        | \$98.00      | \$93,007.00         |
| 33           |               | Stamped Concrete Side valk                       | 216   | sys            | \$155.00           | \$33,430.00    | \$19425      | \$41,958.00        | \$181.0         | \$39,113.28    | \$207.97     | \$44,921.52        | \$200.00     | \$43,200.00         |
| 34           |               | Curb Ramp, Concrete                              | 755   | sys            | \$90.00            | \$67,550.00    | \$226.05     | \$170,667.75       | \$210.50        | \$159,154.00   | 3242 01      | \$182,717.55       | \$175.00     | \$132,125.00        |
| 35           |               | Detectable Warring Surface                       | 121   | 875            | \$105.00           | \$12,765.00    | \$154.47     | \$18,690.87        | \$143.50        | \$17,399 50    | \$165.37     | \$20,009.77        | \$180.00     | \$21,760 00         |
| 36           |               | Tra I Surface                                    | 8558  | SYS            | \$60.00            | \$533,880 60   | \$33.45      | \$297,638.10       | \$31.16         | \$277,261.68   | \$35.81      | \$318,637.33       | \$37.00      | \$329,226 00        |
| 37           | FVVR0         | Sidewalk Trench Crossing, Trail                  | 11    | EA             | \$4,500.00         | \$49,500 00    | \$3,915 69   | <b>5</b> 93,072.59 | \$8,300.00      | \$91,300 00    | \$9,545.00   | \$104,995.00       | \$13,500.00  | \$148,500.00        |

| 38       | 605-<br>02493 | Ourb, hitand Concreta                               | 29     | SYS      | \$20.00     | \$2,320 00   | \$230.95   | \$6,697.55    | \$215.00         | \$5,235.00         | \$247.25   | \$7,170 25     | \$84 60         | \$2,436.00          |
|----------|---------------|---|--------|----------|-------------|--------------|------------|---------------|------------------|--------------------|------------|----------------|-----------------|---------------------|
| 39       | 695-<br>06140 | Ourb and Gutter, Concrete                           | 237    | LFT      | \$90.00     | \$21,330.00  | \$53.71    | \$12,729.27   | \$50.00          | \$11,650.00        | \$57.50    | \$13,627,50    | \$70.60         | \$16,590.60         |
| 40       | 605-<br>06250 | Center Curb, C Concrete                             | 19     | sys      | \$250.00    | \$4,750,00   | \$230.55   | \$4,388.05    | \$215.00         | \$4,065.00         | \$247.25   | \$4,697,75     | \$250.00        | \$4,750 00          |
| 41       | 605-<br>64911 | Curb, Terrout                                       | 55     | EA       | \$225 00    | \$12,375.00  | \$1,503 85 | \$82,711.75   | \$1,400.00       | \$77,000 00        | \$1,510 00 | \$88,550.00    | \$1,500 60      | \$82,500 (0)        |
| 42       | 605-<br>FV R0 | Curb, Concrete, 11                                  | 6382   | ĿFT      | \$25.00     | \$172,050 00 | \$20.41    | \$140,451.62  | \$19 00          | \$130,758.60       | \$21.85    | \$150,371.70   | \$23 00         | \$158,266.00        |
| 43       | 605-<br>FV:R0 | Curb, Concrete, 18 (12 in.)                         | 193    | LFT .    | \$60.00     | \$11,850 D0  | \$58.01    | \$11,435.58   | \$54.00          | \$10,692.00        | \$52.10    | \$12,295 60    | \$74.00         | \$14,652.00         |
| 44       | 610-<br>07458 | HMA for Approaches, Typa C                          | 270    | TON      | \$115.60    | \$31,060.00  | \$214.84   | \$58,006.80   | \$200.00         | \$54,000.00        | \$230.00   | \$52,100.00    | \$128.00        | \$34,020.00         |
| 45       | 810-<br>07713 | PCCP for Approaches, 8 In.                          | 553    | sys      | \$125 60    | \$69,125.00  | \$102.65   | \$56,433 65   | \$95.00          | \$52,535 00        | \$109.25   | \$50,415.25    | \$158.00        | \$87,374 00         |
| 45       | 611-<br>C6497 | Valkox Assembly, Single                             | 4      | EA       | \$150 00    | \$500 00     | \$456.53   | \$1,826.12    | \$425 <b>6</b> 0 | \$1,700.00         | \$498.75   | \$1,955.00     | \$425.00        | \$1,700.00          |
| 47       | 616-<br>06405 | Rigrap, Revebrant                                   | 45     | TON      | \$55.00     | \$3,910 00   | \$75.24    | \$3,451.04    | \$43.62          | \$7,236 52         | \$43.62    | \$2,235.52     | \$120.00        | \$5,520.00          |
| 49       | 616-<br>12249 | Geolestie for Riprap, Type 2B                       | 60     | SYS      | \$7.00      | \$420.00     | \$25.60    | \$1,536.00    | \$7,00           | \$420.60           | \$7.00     | \$420.00       | \$39.00         | \$1,600.00          |
| 49       | 618-<br>03512 | Bench   | 4      | ξA       | \$3,500.00  | \$14,000.60  | \$2,524.32 | \$10,097.28   | \$3,250.00       | \$13,000.00        | \$3,737.50 | \$14,650.00    | \$3,250.00      | \$13,000.00         |
| 50       | 521-<br>01004 | Vobčaston and Demob, For Seed                       | 8      | EA       | \$450.00    | \$3,600.00   | \$537.09   | \$4,296.72    | \$1,500.00       | \$12,000.00        | \$1,282.25 | \$10,258,00    | \$500.00        | \$4,000.00          |
| 51       | 621-<br>06554 | Vulched Seeing, U                                   | 14254  | SYS      | \$400       | \$57,016 60  | \$3.49     | \$49,745.45   | \$2.50           | \$35,635 00        | \$2.88     | \$41,061.52    | <b>\$</b> 3.25  | \$49,325.50         |
| 52       | 621-<br>08161 | Permanent Turf Reinf, Mat, Roadway                  | 58     | SYS      | \$25.00     | \$1,450.00   | \$42.97    | \$2,472.26    | \$5.50           | \$319 00           | \$6.33     | \$367,14       | \$40.00         | \$2,320.00          |
| 53       | 715-<br>45000 | Pipe End Section, Dia. 12 In.                       | 7      | EA       | \$1,250.00  | \$8,750 00   | \$367,59   | \$2,573.13    | \$624.39         | \$4,370.73         | \$624.39   | \$4,370.73     | \$400.60        | \$2,500.00          |
| 54       | 715-<br>46005 | Pipe End Section, Dis. 15 In.                       | 5      | EA       | \$1,350.00  | \$6,750.00   | 5414,41    | \$2,072 65    | \$824.43         | \$4,122.15         | \$824,43   | \$4,122.15     | \$550 00        | \$2,750.00          |
| 55       | 715-<br>45010 | Pipe End Section, Dia. 18 In.                       | 2      | EA       | \$1,450.00  | \$2,900.00   | \$437.39   | \$974.78      | \$999.31         | \$1,953.62         | \$999.31   | \$1,993.62     | \$500.00        | \$1,000.00          |
| 56       | 715-<br>45020 | Pipe End Section, Dis. 24 In                        | 3      | Ę.A.     | \$1,650.00  | \$4,650.00   | \$537,45   | \$2,512.38    | \$1,677.14       | \$5,031.42         | \$1,677.14 | \$5,031.42     | \$350.00        | \$2,550.00          |
| 57       | 715-<br>94530 | Adjust Water Valve to Grade                         | 9      | LFT      | \$1,000 00  | \$9,000.00   | \$325.01   | \$2,925 09    | \$750.00         | \$6,750.00         | \$750.00   | \$6,750 00     | \$275 00        | \$7,475.00          |
| 58       | 715-<br>FV/R1 | Pos - 12' RCP, Class III                            | 329    | ਸ਼ਾ      | \$50.06     | \$16,450.00  | \$68.01    | \$22,375.29   | \$101.69         | \$33,456.01        | \$101.71   | \$33,462.59    | \$60.00         | \$19,740 00         |
| 59       | 715-<br>FWR1  | Pipe - 15' RCP, Class H                             | 629    | LFT      | \$60.00     | \$37,740.00  | 575.17     | \$47,281.93   | \$110.03         | \$69,208 87        | \$110.03   | \$59,208 87    | <b>\$</b> 65 00 | \$40,685 (9)        |
| 60       | 715-<br>FWR1  | Ppe - 18" RCP, Class H                              | 230    | LFT      | \$65.00     | \$14,950.00  | \$78.66    | \$18,137.50   | \$120 62         | \$27,742.60        | \$120 62   | \$27,742.60    | \$75.00         | \$17,250.00         |
| 61       | 715<br>FWR1   | Pipe - 24' RCP, Class El                            | 649    | EA       | \$75.00     | \$43,675.00  | \$92.05    | \$59,741 45   | \$135.42         | \$87,887.58        | \$135.41   | \$97,891.09    | \$90.00         | \$58,410.00         |
| 62       | 715-<br>FWR3  | Casting - 24" Solid Storm Casting & Adjust to Grade | 3      | EA       | \$1,250.00  | \$3,750.00   | 3541 21    | \$1,623 63    | \$940 00         | \$2,820.00         | \$940.00   | \$2,820,00     | \$1,100.00      | \$3,300,00          |
| 63       | 720-          | Vanhole, Type H2                                    | 1      | EA       | \$7,500 00  | \$7,500.00   | \$4,115.75 | \$4,115,75    | \$8,068,00       | \$6,063.00         | \$6,068.00 | \$6,063.00     | \$5,500.00      | \$5,500.00          |
| 64       | 720-          | Vanhole, Type C15                                   | 1      | EA       | \$4,500.00  | \$4,500.00   | \$3,936.37 | \$3,936.37    | \$5,376.00       | \$5,376.00         | \$5,376.00 | \$5,376.00     | \$5,500.00      | \$5,500 60          |
| 65       | 720-          | Vanhole, Type C4                                    | 5      | £A.      | \$4,250.00  | \$21,250 00  | \$3,689.91 | \$15,449.55   | \$3,970.00       | <b>319,850 6</b> 0 | \$3,970.00 | \$19,550.00    | \$5,500.60      | \$27,500.00         |
| 6-6      | 720-<br>90129 | Manhole, Type J2                                    | 3      | EΑ       | \$10,000.00 | \$30,600 60  | 84,115.75  | \$12,347.25   | \$7,05a 00       | \$21,204.00        | \$7,068.00 | \$21,204 00    | \$5,500.00      | \$16,500.00         |
| 67       | 720-<br>90349 | Vanhole, Tippe Cô                                   | 2      | EA       | \$5,500.00  | \$11,000 60  | \$3,406.79 | \$6,613.58    | \$5,309.00       | \$10,618.00        | \$5,309.00 | \$10,518.00    | \$5,500.00      | \$11,600.00         |
| 63       | 720-<br>90584 | Manhole, Type C2                                    | 1      | EA       | \$5,750.00  | \$5,750 €0   | \$3,557.18 | \$3,557.18    | \$4,470 00       | \$4,470.00         | \$4,470,00 | \$4,470.00     | \$5,500.00      | \$5,500.00          |
| 69       | 720-<br>94512 | Marchole, Type K4                                   | ,      | EA       | \$16,000.00 | \$16,000.00  | \$4,674.32 | \$4,674 32    | \$5,686.00       | \$5,666.00         | \$5,666.00 | \$5,666.00     | \$7,000,00      | \$7,000.00          |
| 70       | 720-<br>55422 | Wanhole, Type J4                                    | 3      | ÉA       | \$12,000.00 | \$36,000 00  | \$3,648.49 | \$10,945.47   | \$4,568.00       | \$13,704.00        | \$4,568.00 | \$13,704.00    | \$5,500.00      | \$16,500.00         |
| 71       | 720-<br>97003 | Fire Hydra-1 Assembly, Relocate                     | 2      | EA       | \$7,500.00  | \$15,000,00  | \$2,185,24 | \$4,370.43    | \$4,000.00       | \$3,000.00         | \$2,000.00 | \$4,000.00     | \$5,750 00      | <b>\$1</b> 1,500.00 |
| 72       | 720-<br>97958 | Manhola, Typa K2                                    | 1      | EA       | \$15,000.00 | \$15,000 00  | \$5,141.59 | \$5,141.59    | \$6,166.00       | \$6,166.00         | \$6,166.00 | \$6,166.00     | \$7,000.00      | \$7,000 00          |
| 73       | 720-<br>FV/R1 | Costing, Adjust to Grade                            | 53     | EA       | \$1,000.00  | \$53,000.00  | \$311.95   | \$16,533.35   | \$1,000.00       | \$53,000.00        | \$1,000.00 | \$53,000.00    | \$575.00        | \$30,475.00         |
| 74       | 720-<br>FIAR1 | Inlet - Precast 30' Round Inlet, B                  | 4      | EA       | \$3,500 D0  | \$14,000.00  | \$2,505.45 | \$10,421.84   | \$2,151.00       | \$5,604.00         | \$2,151.00 | \$8,604.00     | \$3,500.00      | \$14,000,00         |
| 75       | 720-<br>FV/R1 | Inlet - Precest 30' Round Inlet, C                  | 6      | EA       | \$3,750.00  | \$22,500.00  | \$3,865.47 | \$23,192.82   | \$2,390.00       | \$14,340.00        | \$2,390.00 | \$14,342.00    | \$3,500.00      | \$21,000.00         |
| 76       | 720-<br>FAR1  | Inlet - Precest 33' Round Inlet, A                  | 4      | EA       | \$4,250.00  | \$17,000.00  | \$2,734.36 | \$10,937.44   | \$2,289.00       | \$9,156.00         | \$2,289.00 | \$9,156.00     | \$4,000.00      | \$16,000.00         |
| 77       | 720-<br>FIVR1 | Inlet - Precest 33' Round Inlet, B                  | 8      | EA       | \$4,500.00  | \$36,000.00  | \$2,734.36 | \$21,874.68   | \$2.289 60       | \$18,312.00        | \$2,289.00 | \$18,312.00    | \$4,000.00      | \$32,000.00         |
| 78       | 720-<br>FWR1  | triet - Precest 33' Round Inlet, C                  | 1      | EA       | \$4,750.00  | \$4,750.00   | \$3,435.60 | \$3,435.80    | \$7,528.00       | \$2,528.00         | \$2,528 00 | \$2,528.00     | \$4,000.00      | \$4,000.00          |
| 79       | 732-<br>11810 | Ved Jan 8'bok Wall                                  | 458    | 5FT      | \$150.00    | \$68,700.00  | \$74.21    | \$33,598.18   | \$67.50          | \$39,915.00        | \$77.63    | \$35,554.54    | \$75.00         | \$34,350 00         |
| 60<br>60 | 601-          | Temp. Punt Mark, Removable, 4 in.                   | 143158 | LFT      | \$1.00      | \$143,158.00 | \$1.64     | \$234,779.12  | \$1.25           | \$178,947.50       | \$1.76     | \$251,958.08   | \$1.25          | \$178,947.50        |
| (DU)     | Trosoi        | Talloby c and ward workers & with                   | 144190 | <u> </u> | 31,00       | 4,40,100(0)  | \$1,94]    | 44.24,110.141 | #1 43            | 4110,01120         | 45.70      | , 4.35,033,000 | 41.23           | , +o.o.i +0]        |

| 81  | 601-<br>06207              | Temp, Pent Mark, Removable, Sin.   | E945  | i.FT        | 12 50       | \$17,896.00  | \$2 41      | \$21,564 63      | <b>\$</b> 1 25 | \$11,155.00  | \$2.58      | \$23,065 84  | \$1.25      | \$11,185.00  |
|-----|----------------------------|--|-------|-------------|-------------|--------------|-------------|------------------|----------------|--------------|-------------|--------------|-------------|--------------|
| 82  | 501-                       | Temp. Pont Mark, Removable, 6 in.  | 2388  | LFT         | \$2.00      | \$4,776.00   | \$2.63      | \$6,280.44       | \$2.50         | \$5,970.00   | \$2.52      | \$6,734.16   | \$2.50      | \$5,970 GO   |
| 8.3 | 801-<br>0 <del>6</del> 211 | Temp. Punt. Mess. Mig. Remov.  | 105   | EA          | \$250.00    | \$26,250 00  | \$194.43    | \$20,415.15      | \$150.00       | \$15,750.00  | \$200,15    | \$21,855.75  | \$150.00    | \$15,750 60  |
| 84  | 501-<br>05216              | Temp. Trans. Pend. Mgk, Remov. 24 ft   | 1764  | lFT .       | \$2.00      | \$3,528 00   | \$12.50     | \$22,050,00      | \$20,00        | \$35,260.00  | \$13.39     | \$23,619.96  | \$20.00     | \$35,280 00  |
| 55  | 501-<br>06640              | Construction Sign. Type A  | 72    | EA          | \$210.00    | \$15,120.00  | \$264.25    | \$19,026.00      | \$450.00       | \$32,400.00  | \$282 90    | \$20,368 60  | \$450.00    | \$32,400.60  |
| 66  | 601-<br>06645              | Construction Sign, Type B  | 7     | ĒΑ          | \$190.00    | \$1,330,00   | \$135.42    | \$954 <b>9</b> 4 | \$200.00       | \$1,400 GO   | \$146.65    | \$1,022.35   | \$200 60    | \$1,430.60   |
|     | 501-<br>06710              | Flashing Anow Sign   | 105   | DAYS        | \$15.00     | \$1,575 60   | \$17.19     | \$1,604.55       | \$25 60        | \$2,625.00   | \$18.40     | \$1,932 00   | \$25.00     | \$2,625 00   |
| દર  | 501-<br>07119              | Barricode, 13-B  | 528   | LFT         | \$50.00     | \$42,240.00  | \$17.12     | \$9,039.36       | \$18.00        | \$9,504 00   | \$16.33     | \$9,678.24   | \$18.00     | \$9,504.00   |
| £9  | 502-<br>03126              | Sign, Oretest, Relocate  | 16    | EA          | \$1,250.00  | \$22,500 00  | \$161.13    | \$2,900.34       | \$150.00       | \$2,700.00   | \$172.50    | \$3,105.00   | \$350.00    | \$5,300.00   |
| 93  | 602-<br>05701              | Sign Post, Square, Type 1, Reinf. Anch.  | 444   | <b>t</b> FT | \$45.00     | \$19,580.00  | \$19.34     | \$8,586.96       | \$18.00        | \$7,992.00   | \$20.70     | \$9,199,60   | \$22.50     | \$9,990.00   |
| 91  | 802-<br>09533              | Sign, Sheet, Wilegand, 0 000 Thick   | 36    | SFT         | \$55.00     | \$1,580.00   | \$16.11     | \$579 96         | \$15.00        | \$540.00     | \$17,25     | \$621.00     | \$15.00     | \$540.00     |
| 92  | 602-<br>0 <del>9</del> 340 | Sign, Sheet, W Legend, 0.100 Thick   | 210   | SFT         | \$50.00     | \$12,600.00  | \$26.85     | \$5,633.50       | \$25.00        | \$5,250.00   | \$28.75     | \$6,037.50   | \$25.00     | \$5,250.00   |
| 93  | 805-<br>01300              | Traffic Signal Equipment, Remove (Pedestrian Pele, Foundation, and<br>Attachments) | 1     | EA          | \$3,600.00  | \$3,000.00   | \$505.64    | \$505.64         | \$750.00       | \$750 00     | \$562 50    | \$562.50     | \$1,259 00  | \$1,259.00   |
| 94  | 505-<br>01303              | Traffic Signat Egypment, Remova (Push Buttons)                                     | . 6   | EA          | \$3,000.00  | \$16,000.00  | \$1,074.18  | \$9,445 08       | \$1,000,00     | \$6,000.00   | \$1,150 00  | \$5,990.00   | \$150.00    | \$960.60     |
| 95  | 505-<br>01579              | Viscellaneous Equipment for Traffic Signals  | 1     | LS          | \$2,500 00  | \$2,500 60   | \$6,582.17  | \$5,582.17       | \$9,500.00     | \$6,500.00   | \$7,475 00  | \$7,475.00   | \$7,500.00  | \$7,500,00   |
| 98  | 805-<br>01828              | Traffic Signal Head, Realign (or Refocate)   | 24    | EΑ          | \$1,200.00  | \$28,500 00  | \$1,611.27  | \$38,670.45      | \$1,500.00     | \$38,000 60  | \$1,725.00  | \$41,490.00  | \$750.00    | \$18,000.00  |
| 97  | 805-<br>01842              | Handho's, Signal, Adjust to Grade  | 9     | EA          | \$1,500 60  | \$13,500.00  | \$966.76    | \$8,700.84       | \$900.00       | \$3,100.00   | \$1,035.00  | \$9,315.00   | \$750 00    | \$6,750 00   |
| 98  | 805-<br>01842              | Handhole, Signal, Type 1   | 3     | EA          | \$1,500 00  | \$4,500.00   | \$1,611.27  | \$4,833.81       | \$1,500.00     | \$4,500.00   | \$1,725.00  | \$5,175.00   | \$2,600.00  | \$6,600,60   |
| 99  | 805-<br>01844              | Conduit, Steel, Galyanized, 2 in.  | 3036  | LFT         | \$2.00      | \$6,072.00   | \$37.60     | \$114,153 60     | \$35.00        | \$106,260.60 | \$40.25     | \$122,199.00 | \$35 00     | \$106,260.00 |
| 100 | 505-<br>01844              | Conduit, Steel, Galvanized, 2 in.  | 163   | LFT         | \$2.00      | \$326 00     | \$37.50     | \$5,128 50       | \$35.00        | \$5,765 00   | \$40.25     | \$6,560.75   | \$35.00     | \$5,765.00   |
| 101 | 605-<br>02087              | Transportation of Salvageable Signal Equipment                                     |       | LS          | \$2,500.00  | \$2,500.60   | \$2,685.45  | \$2,685.45       | \$2,500.00     | \$2,500.00   | \$2,875.00  | \$2,875.00   | \$2,500.00  | \$2,500.00   |
| 102 | 505-<br>02150              | Pedestran Signal Head, Counddown, 18 in. (relocate)                                | 2     | EA          | \$1,250.00  | \$2,500.00   | \$263,55    | \$537,10         | \$250.00       | \$500.00     | \$287.50    | \$575.00     | \$450 00    | \$900.00     |
| 163 | 505-<br>02150              | Pedestrian Signal Head, Countdown, 18 in   | 37    | EA          | \$2,500 00  | \$92,500 00  | \$778.78    | \$28,814.66      | \$725.00       | \$26,825.00  | \$833.75    | \$30,843.75  | \$1,000.00  | \$37,000 60  |
| 104 | 02392                      | Signal Pole Foundation, 36 in x 72 in  | 0     | EA          | \$5,000.00  | \$0.00       | \$9.00      | \$0.00           | \$0.00         | \$0.00       | \$0.00      | \$0.00       | \$0.00      | \$0.00       |
| 105 | 0244S                      | Controller and Cabinet, Type P1 (remove ex. And Install New)                       | 6     | ÉA          | \$2,250.00  | \$13,500.00  | \$2,143.36  | \$12,890.16      | \$2,000.00     | \$12,000.00  | \$7,300.00  | \$13,800.00  | \$2,500.00  | \$15,000.00  |
| 106 | 605-<br>05405              | Signal Pole, Pedestal, 4Ft   | 13    | EA          | \$2,500.00  | \$32,500.00  | \$832,49    | \$10,822.37      | \$775 00       | \$10,076 00  | \$891.25    | \$11,585.25  | \$1,000.00  | \$13,000.00  |
| 107 | 605-<br>08129              | Signal Cable (CAT 5 Communication Cable)   | 8571  | រេក         | \$1.00      | \$5,571.00   | \$7.25      | \$62,139.75      | \$6.75         | \$57,854.25  | \$7.76      | \$66,510.96  | \$3.50      | \$29,998.50  |
| 158 | 11817                      | Pedestran Button, APS  | 37    | EA          | \$1,500.00  | \$55,500.00  | \$1,906 67  | \$70,546 79      | \$1,775 00     | \$85,675 00  | \$2,041.25  | \$75,526.25  | \$2,750.00  | \$161,750.60 |
| 109 | 805-<br>78205              | Traffic Signal Head, No. 3 Section, 12 In.   | 3     | EA          | \$3,500.00  | \$10,500.00  | \$853.97    | \$2,561.91       | \$795.00       | 52,385 00    | 3914.25     | \$2,742.75   | \$1,260.00  | \$3,502.60   |
| 110 | 805-<br>78450              | Signal Cable, Control, Copper 3C/14Gs  | 5524  | UFT         | \$1.00      | \$5,524.00   | \$4.30      | \$23,753.20      | \$4.00         | \$22,095.00  | \$4 60      | \$25,410.40  | \$3.50      | \$19,334 60  |
| 151 | 605-<br>78455              | Signal Cable, Control, Copper 5C/14Ga  | 5497  | UFT         | \$1.00      | \$5,437.00   | \$5 37      | \$29,455.19      | \$5.00         | \$27,435 00  | \$5.75      | \$31,550.25  | \$5.00      | \$27,435.00  |
| 112 | 805-<br>78490              | Signal Cable, Cortrol, Copper 7C/14Ga  | 307   | LFT         | \$1.00      | \$307.00     | \$9 67      | \$2,968 69       | \$9.00         | \$2,763 00   | \$10.35     | \$3,177.45   | \$6.50      | \$1,995.50   |
| 113 | 605-<br>90005              | Signal Pole, Pedestal, 10 ft   | 16    | EA          | \$1,750.00  | \$28,000 00  | \$1,074.18  | \$17,186 83      | \$1,000 00     | \$16,000.00  | \$1,150.00  | \$18,400.00  | \$1,200,00  | \$19,200.00  |
| 114 | FVYR5                      | Video Detection System, Wilavisian Ocea w/Detection Plus Bundia                    |       | EA          | \$35,600 60 | \$280,000 00 | \$28,956.73 | \$231,893.84     | \$26,585.00    | \$215,680.00 | \$31,032.75 | \$243,262.00 | \$33,000.00 | \$264,000.00 |
| 115 | 805-<br>FV\R5              | Video Detection System, Misrisian Intersection 360 Bell                            | 16    | EΑ          | \$4,000 60  | \$84,000.00  | \$5,370.90  | \$55,934.40      | \$5,000.00     | \$80,000 00  | \$5,750 ¢0  | \$92,000 00  | \$4,250.00  | \$68,000 00  |
| 116 | 805-<br>FV\R5              | Video Beledion System, Micrision Smartifer Approach                                | 20    | EA          | \$3,000.00  | \$60,000.00  | \$4,833 81  | \$96,676,20      | \$4,500.00     | \$50,000.00  | \$5,175.00  | \$103,500.00 | \$3,659.00  | \$73,000.00  |
| 117 | E05-<br>FV-R5              | Video Datection Hardware, Woodston Poe Switch (Trendret TIPg\$41)                  | 18    | ĔΑ          | \$1,500.60  | \$27,000.00  | \$2,665,45  | \$45,333.10      | \$2,500.00     | \$45,000 00  | \$2,876 00  | \$51,750 00  | \$1,400.00  | \$25,200.00  |
| 118 | 607-<br>02822              | Light Pole, Steel, Relocate  | 5     | EĄ          | \$10,000,00 | \$50,000.00  | \$1,611.27  | \$8,656 35       | \$1,500.00     | \$7,500 00   | \$1,725.00  | \$5,625 00   | \$3,500.00  | \$19,000.00  |
| 119 | 607-<br>04922              | Ugha Standard Foundation   | 5     | EA          | \$5,500.00  | \$27,500.00  | \$2,094 65  | \$10,473.25      | \$1,950.00     | \$9,750 60   | \$2,242.50  | \$11,212.50  | \$2,750.00  | \$13,750.00  |
| 120 | 607.<br>66243              | Wire, No 4 Copper, 1/C   | 2594  | <u>LFT</u>  | \$1.00      | \$2,594 00   | \$16.11     | \$41,789.34      | \$15.60        | \$38,910.00  | \$17.25     | \$44,746 50  | \$6.00      | \$15,564.00  |
| 121 | 608-<br>10031              | Ure, Multi-Comp. Broken, White, 4 in.  | 20958 | LFT         | \$0.50      | \$10,479.00  | \$1.20      | \$25,149 60      | \$1.00         | \$20,958.00  | \$1.29      | \$27,035.82  | \$1.00      | \$20,958.00  |
| 122 | 10033                      | Une, Mc/S-Comp, Sc/St, White, 4 In.  | 17822 | LFT         | \$0.50      | \$5,911.00   | \$1.01      | \$18,000 22      | \$1.00         | \$17,822 60  | \$1.08      | \$19,247.76  | \$1.00      | \$17,822.00  |
| 123 | 608-<br>10034              | Line, Musi-Comp, Solid, Yellow, 4 in   | 22343 | LFT         | \$0.50      | \$11,171.50  | \$1.01      | \$22,566.43      | \$1.00         | \$22,343 00  | \$1,00      | \$24,130 44  | \$1.00      | \$22,343.00  |

|     | 808-          |  |        |      |              | 1             |              | 1            |              |   | 1           |              | 1              | - 1            |
|-----|---------------|--|--------|------|--------------|---------------|--------------|--------------|--------------|---|-------------|--------------|----------------|----------------|
| 124 |               | Line, Multi-Comp, Broken, Yellow, 4 in             | 8288   | ĿFT  | \$0.50       | \$4,144.00    | \$1.20       | \$9,945.60   | \$1.00       | \$8,288 00                              | \$1.29      | \$10,691.52  | \$1.00         | \$9,283.00     |
|     | -808          | 1  |        |      |              |               |              |              |              |   |             |              |                |                |
| 125 |               | Line, Multi-Comp. Schid, White, 12 in.             | 536    | ਮਾ   | \$1.60       | \$535 00      | \$3 88       | \$3,243 68   | \$3.00       | \$2,508 00                              | \$4.15      | \$3,459.40   | \$3.00         | \$2,508.00     |
| 1   | 803           |  |        |      |              |               |              |              |              |   |             |              |                | į              |
| 126 | 10037         | Line, Multi-Comp. St. Id., White, 8 in.            | 4574   | LFT  | \$0.50       | \$2,337.00    | \$1.94       | \$9,567.56   | \$2 00       | \$9,345.00                              | \$2.08      | \$9,721.52   | \$2.00         | \$9,345 60     |
| 127 | 10051         | Trans, Mag. Muti-Como, Stop. 24 in.                | 1312   | UFT  | \$15.00      | \$19,680.00   | \$14.65      | \$19,220.60  | \$20.00      | \$26,240.00                             | \$15.69     | \$20,565.28  | \$20.60        | \$26,240.60    |
| 12, | 1608          | 114-0, 18-9, 18-0-0, 17-9, 27-9, 27-9.             | 1012   |      | 7.0.03       |               | 71,155       |              |              | , ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, |             | 72-,00-      | *****          | 414,217        |
| 128 | 10052         | Purit Mess Mig. Mult-Component, Only               | 10     | EA   | \$20.00      | \$200.00      | \$258 88     | \$2,588,60   | \$250.00     | \$2,500.00                              | \$277.15    | \$2,771.50   | \$250 60       | \$2,560.60     |
|     | -503          |  |        |      |              |               |              |              |              |   |             |              |                |                |
| 129 |               | Trans. Milg., Multi-Comp., Crosswalk, White, 6 th. | 514    | LFT  | \$10.50      | \$5,140.60    | \$5 E9       | \$3,027,46   | \$7.00       | \$3,593.00                              | \$530       | \$3,238 20   | \$7.60         | \$3,553.00     |
| 1   | 508-          |  | 4400   |      |              | F4 470 F0     |              | 43.773.53    |              | \$2,664,00                              | 43.63       | \$2,978.56   |                | *****          |
| 130 | 568-          | Line, Multi-Comp, Solid, Yellow, 8 in              | 1432   | UFT  | 51,00        | 51,432 60     | \$1.94       | \$2,778.68   | \$2.00       | \$2,664.00                              | \$2.63      | \$2,910.09   | \$2.00         | \$2,664 00     |
| 131 |               | Line, Multi-Comp, Solid, Yellow, 12 in             | 509    | LFT  | 31,00        | \$509.00      | \$3.63       | \$1,974.92   | \$300        | \$1,527,00                              | \$4 15      | \$2,112.35   | \$3.00         | \$1,527.00     |
|     | 803-          | 11           |        |      |              |               |              |              |              |   |             |              |                |                |
| 132 | 10077         | Pirrt Mess, Mig., Multi-Comp. Lane Arrow           | 53     | EA   | \$59.00      | \$4,900.00    | \$237.39     | \$23,264.22  | \$250 00     | \$24,500.60                             | \$254,15    | \$24,906 70  | \$250.00       | \$24,500.00    |
| 133 | 508-<br>10097 | Punt Mess, Mig , Nuti-Comp, Yield, 27 in           | 50     | UFT  | \$50.00      | \$1,500.00    | \$1957       | \$587.10     | \$100.00     | \$3,600.00                              | \$20.96     | \$628.50     | \$100.00       | \$3,000.00     |
| 133 | 808-          | PATE MESS MIG , MCCP-COMP, 1983, 27 M              | 33     |      | \$30.00      | \$1,3000      | 41531        | \$207.19     | \$100 00     | \$3,030.00                              | 120 93      | 3020 00      | 9,0000         |                |
| 134 | 10099         | Trans. Ukg, Wulf-Comp. Cross., White, 24           | 1312   | LFT  | \$5.00       | \$6,560.00    | \$1465       | \$19,220 80  | \$20 60      | \$26,240.00                             | \$15.69     | \$20,585.28  | \$20.00        | \$26,240.00    |
|     | 808-          |  |        |      |              |               |              |              |              |   |             |              |                |                |
| 135 |               | Line, Multi-Comp. Dotted, White, 4 in.             | 257    | LFT  | \$1,60       | \$257,00      | \$5.27       | \$1,354.39   | \$1.60       | \$257.00                                | \$5.65      | \$1,457.05   | \$1.00         | \$257.00       |
| 136 | 808-          | Line, Mu'S-Comp, DoSed, Yellow, 4 in.              | 219    | LFY  | \$1,00       | 5219.00       | \$5 27       | \$1,154,13   | \$1.00       | \$219 00                                | \$5.65      | \$1,237,35   | \$1 00         | \$219.00       |
| 130 | 801-          | the, Mud-Colty, Dodes, selon, 4 in.                | 213    | bf-1 | 31,00        | 321300        | 3321         | \$1,554,15   | 41.00        | 321300                                  | \$300       | 47,237.33    | 41 20          | 42.00          |
| 137 |               | Waintaining Traffic                                | 1      | LFT  | \$729,949 50 | \$729,849.50  | \$164,741,91 | \$164,741.91 | \$925,800.00 | \$925,800 00                            | \$155,73470 | \$155,73470  | \$1,170,502.63 | \$1,170,502.63 |
|     | 808-          | _  |        |      |              |               |              |              |              |   |             |              |                |                |
| 138 |               | Certer Outb Pairting                               | 290    | SFT  | \$5.60       | \$1,450 00    | \$17.66      | \$5,121.49   | \$6.00       | \$1,740.00                              | \$18.91     | \$5,433 90   | \$6.00         | \$1,740.00     |
|     | 623-          |  |        |      |              |               |              |              |              |   |             |              |                | ******         |
| 139 | FVVR1         | Tepsol .   | 2375   | 709  | \$42.00      | \$99,750.00   | \$45.12      | \$107,160 00 | \$43.00      | \$95,000.00                             | \$43.30     | \$102,837.50 | \$42.00        | \$99,750.00    |
| 140 |               | Signal Pole Foundation, 24 in, X 24 in, X 35 in.   | 29     | EA   | \$4,000,00   | \$116,000,00  | \$1,074,18   | \$31,151,22  | \$1,000.00   | \$29,000.00                             | \$1,150.00  | \$33,350 00  | \$1,400.00     | \$40,600.00    |
|     | 6-07-         |  |        |      |              |               |              |              |              |   |             |              |                |                |
| 141 |               | Payed Side Ditch, Type A                           | 781    | UFT  | \$47.00      | \$36,707.00   | \$55.66      | \$43,626.66  | \$51.74      | \$40,408.94                             | \$59.60     | \$45,703 80  | \$145.00       | 5113,245 00    |
| 142 | 109-          | Work Allowance                                     | 250000 | DOL  | \$1.00       | \$250,000.00  | \$1.00       | \$250,000,00 | \$1.00       | \$250,000.00                            | \$1.00      | \$250,000.00 | \$1.60         | \$250,000 00   |
| 142 | 104233        | FYSIK ACTUALICE                                    | 23000  |      |              | 35,00,007,007 |              | 37.79.000    | 3100         | 44.03,000.00                            | #1.20       | \$200,030.03 | \$1.00         | 4200,000 00    |



# Notice of Award

| Project: ILLINOIS ROAD TRAIL AND ROAD IMPROVEMENTS |   |
|--|---|
| Owner: City of Fort Wayne Board of Works           | , THE ALL ALL ALL ALL ALL ALL ALL ALL ALL AL  |
| Resolution/Work Order #0620R                       |   |
| Bidder: Bunn Excavating, Inc                       | TOTAL MINISTREE AND ADDRESS OF THE STATE OF |
| Bidder's Address: 3204 Lower Huntington Road       |   |
| Fort Wayne, IN, 46809                              |   |

You are notified that your Bid dated 9/18/2025 for the above Contract has been considered. You are the Successful Bidder and are awarded a Contract for ILLINOIS ROAD TRAIL AND ROAD IMPROVEMENTS

Improve Illinois Road from the right of way of Interstate 69 to Rockhill Park with resurfacing from Grand National Drive/Magnavox Way to West Jefferson; widening of the road from Getz Road to the Avenue of Autos; inclusion of offset turn lanes at four intersections; narrowing the lane width to 11 feet; and constructing a 10-foot wide multi-use trail from Getz Road to North Rockhill Park. The project includes intersection improvements, roadway widening, lane narrowing, multi-use trail, new curb, retaining wall, stormwater improvements, maintenance of traffic, traffic signal upgrades, ADA curb ramps, park benches.

The Contract Price of your Contract is \$9,097,944.04.

1 copy of the proposed Construction Contract (except Drawings) accompany this Notice of Award.

You must comply with the following conditions precedent within [10] days of the date you receive this Notice of Award.

- 1. Deliver to the Owner [1] fully executed counterparts of the Construction Contract.
- 2. Deliver with the executed Agreement the following documents:
  - a. Performance Bond
  - b. Payment Bond
  - c. Certificate of Insurance
  - d. Executed E-Verify Affidavit.
  - e. Executed Drug Policy Acknowledgement Form.
- 3. Deliver evidence of successful Bidder's Affirmative Action Plan; OR, executed City of Fort Wayne Affirmative Action Program document to City of Fort Wayne Vendor Compliance, gina.kostoff@cityoffortwayne.org.



# Notice of Award

Failure to comply with these conditions within the time specified will entitle Owner to consider you in default, annul this Notice of Award, and declare your Bid security forfeited. Contractor will be allowed an additional 11 calendar days to submit Bonds.

Within thirty days after you comply with the above conditions, Owner will return to you one fully executed counterpart of the Agreement.

CITY OF FORT WAYNE BOARD OF PUBLIC WORKS

Shan Gunawardena, Chair

ABSENT

Kumar Menon, Member

Chris Guerrero, Member

ATTEST:

Michelle Fulk-Vondran, Clerk

Date: 4.30.25

cc: Project Manager

# AGREEMENT BETWEEN OWNER AND CONTRACTOR FOR CONSTRUCTION CONTRACT (STIPULATED PRICE)

Resolution/Work Order #0620R

This Agreement is by and between the City of Fort Wayne – Board of Public Works ("Owner") and Bunn Excavating, Inc ("Contractor").

Terms used in this Agreement have the meanings stated in the General Conditions and the Supplementary Conditions.

Owner and Contractor hereby agree as follows:

#### ARTICLE 1-WORK

1.01 Contractor shall complete all Work as specified or indicated in the Contract Documents. The Work is generally described as follows: Improve Illinois Road from the right of way of Interstate 69 to Rockhill Park with resurfacing from Grand National Drive/Magnavox Way to West Jefferson; widening of the road from Getz Road to the Avenue of Autos; inclusion of offset turn lanes at four intersections; narrowing the lane width to 11 feet; and constructing a 10-foot wide multiuse trail from Getz Road to North Rockhill Park. The project includes intersection improvements, roadway widening, lane narrowing, multi-use trail, new curb, retaining wall, stormwater improvements, maintenance of traffic, traffic signal upgrades, ADA curb ramps, park benches.

#### ARTICLE 2—THE PROJECT

2.01 The Project, of which the Work under the Contract Documents is a part, is generally described as follows: ILLINOIS ROAD TRAIL AND ROAD IMPROVEMENTS

#### **ARTICLE 3—ENGINEER**

3.01 The part of the Project that pertains to the Work has been designed by **ENGINEERING RESOURCES, INC.**.

#### ARTICLE 4—CONTRACT TIMES

- 4.01 Time is of the Essence
  - A. All time limits for Milestones, if any, Substantial Completion, and completion and readiness for final payment as stated in the Contract Documents are of the essence of the Contract.
- 4.02 Contract Times: Dates
  - A. The Work will be substantially complete on or before 10/15/2027, and completed and ready for final payment in accordance with Paragraph 15.06 of the General Conditions on or before 11/12/2027.

#### 4.03 Milestones

- A. Parts of the Work must be substantially completed on or before the following Milestone(s):
  - 1. Milestone 1 [N/A]
  - 2. Milestone 2 [N/A]
  - 3. Milestone 3 [N/A]

#### 4.05 Liquidated Damages

- A. Contractor and Owner recognize that time is of the essence as stated in Paragraph 4.01 above and that Owner will suffer financial and other losses if the Work is not completed and Milestones not achieved within the Contract Times, as duly modified. The parties also recognize the delays, expense, and difficulties involved in proving, in a legal or arbitration proceeding, the actual loss suffered by Owner if the Work is not completed on time. Accordingly, instead of requiring any such proof, Owner and Contractor agree that as liquidated damages for delay (but not as a penalty):
  - Substantial Completion: Contractor shall pay Owner up to \$1000 for each day that
    expires after the time (as duly adjusted pursuant to the Contract) specified above for
    Substantial Completion, until the Work is substantially complete.
  - 2. Completion of Remaining Work: After Substantial Completion, if Contractor shall neglect, refuse, or fail to complete the remaining Work within the Contract Times (as duly adjusted pursuant to the Contract) for completion and readiness for final payment, Contractor shall pay Owner up to \$1000 for each day that expires after such time until the Work is completed and ready for final payment.
  - 3. Milestones: Contractor shall pay Owner up to \$1000 for each day that expires after the time (as duly adjusted pursuant to the Contract) specified above for achievement of Milestone 1, until Milestone 1 is achieved, or until the time specified for Substantial Completion is reached, at which time the rate indicated in Paragraph 4.05.A.1 will apply, rather than the Milestone rate.
  - Liquidated damages for failing to timely attain Milestones, Substantial Completion, and final completion are not additive, and will not be imposed concurrently.
- B. If Owner recovers liquidated damages for a delay in completion by Contractor, then such liquidated damages are Owner's sole and exclusive remedy for such delay, and Owner is precluded from recovering any other damages, whether actual, direct, excess, or consequential, for such delay, except for special damages (if any) specified in this Agreement.

#### ARTICLE 5—CONTRACT PRICE

- 5.01 Owner shall pay Contractor for completion of the Work in accordance with the Contract Documents, the amounts that follow, subject to adjustment under the Contract:
  - A. For all Work, at the prices stated in Contractor's Bid, attached hereto as an exhibit.
  - B. Total of all unit prices \$9,097,944.04.

#### ARTICLE 6—PAYMENT PROCEDURES

- 6.01 Submittal and Processing of Payments
  - A. Contractor shall submit Applications for Payment in accordance with Article 15 of the General Conditions. Applications for Payment will be processed by Engineer as provided in the General Conditions.
- 6.02 Progress Payments; Retainage
  - A. Owner shall make progress payments on the basis of Contractor's Applications for Payment no more often than every 30 days during performance of the Work as provided in Paragraph 6.02.A.1 below, provided that such Applications for Payment have been submitted in a timely manner and otherwise meet the requirements of the Contract. All such payments will be measured by the Schedule of Values established as provided in the General Conditions (and in the case of Unit Price Work based on the number of units completed) or, in the event there is no Schedule of Values, as provided elsewhere in the Contract.
    - Prior to Substantial Completion, progress payments will be made in an amount equal to the percentage indicated below but, in each case, less the aggregate of payments previously made and less such amounts as Owner may withhold, including but not limited to liquidated damages, in accordance with the Contract.
      - a. 97 percent of the value of the Work completed (with the balance being retainage).
      - b. **97** percent of cost of materials and equipment not incorporated in the Work (with the balance being retainage).

#### 6.03 Final Payment

A. Upon final completion and acceptance of the Work, Owner shall pay the remainder of the Contract Price in accordance with Paragraph 15.06 of the General Conditions.

#### ARTICLE 7—CONTRACT DOCUMENTS

- 7.01 Contents
  - A. The Contract Documents consist of all of the following:
    - 1. This Agreement.

- 2. Bonds:
  - a. Performance bond (together with power of attorney).
  - b. Payment bond (together with power of attorney).
- 3. General Conditions.
- 4. Supplementary Conditions.
- Specifications as listed in the table of contents of the project manual (copy of list attached).
- Drawings (not attached but incorporated by reference) consisting of 196 sheets with each sheet bearing the following general title: ILLINOIS TRAIL, ROADWAY & INTERSECTION IMPROVEMENTS
- 7. Addenda (numbers [1] to [2], inclusive).
- 8. Exhibits to this Agreement (enumerated as follows):
  - a. Drug Policy Acknowledgement Form (Project Bids under \$150,000.00) or Written copy of Contractors Drug Policy (Project Bids over \$150,000.00)
  - b. E-Verify Affidavit
  - c. Escrow account agreement
- 9. The following which may be delivered or issued on or after the Effective Date of the Contract and are not attached hereto:
  - a. Notice to Proceed.
  - b. Work Change Directives.
  - c. Change Orders.
  - d. Field Orders.
  - e. Warranty Bond, if any.
- B. The Contract Documents listed in Paragraph 7.01.A are attached to this Agreement (except as expressly noted otherwise above).
- C. There are no Contract Documents other than those listed above in this Article 7.
- D. The Contract Documents may only be amended, modified, or supplemented as provided in the Contract.

#### ARTICLE 8—REPRESENTATIONS, CERTIFICATIONS, AND STIPULATIONS

### 8.01 Contractor's Representations

- A. In order to induce Owner to enter into this Contract, Contractor makes the following representations:
  - 1. Contractor has examined and carefully studied the Contract Documents, including Addenda.
  - Contractor has visited the Site, conducted a thorough visual examination of the Site and adjacent areas, and become familiar with the general, local, and Site conditions that may affect cost, progress, and performance of the Work.
  - 3. Contractor is familiar with all Laws and Regulations that may affect cost, progress, and performance of the Work.
  - 4. Contractor has carefully studied the reports of explorations and tests of subsurface conditions at or adjacent to the Site and the drawings of physical conditions relating to existing surface or subsurface structures at the Site that have been identified in the Supplementary Conditions, with respect to the Technical Data in such reports and drawings.
  - Contractor has carefully studied the reports and drawings relating to Hazardous Environmental Conditions, if any, at or adjacent to the Site that have been identified in the Supplementary Conditions, with respect to Technical Data in such reports and drawings.
  - 6. Contractor has considered the information known to Contractor itself; information commonly known to contractors doing business in the locality of the Site; information and observations obtained from visits to the Site; the Contract Documents; and the Technical Data identified in the Supplementary Conditions or by definition, with respect to the effect of such information, observations, and Technical Data on (a) the cost, progress, and performance of the Work; (b) the means, methods, techniques, sequences, and procedures of construction to be employed by Contractor; and (c) Contractor's safety precautions and programs.
  - 7. Based on the information and observations referred to in the preceding paragraph, Contractor agrees that no further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the Work at the Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract.
  - 8. Contractor is aware of the general nature of work to be performed by Owner and others at the Site that relates to the Work as indicated in the Contract Documents.

- Contractor has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Contractor has discovered in the Contract Documents, and of discrepancies between Site conditions and the Contract Documents, and the written resolution thereof by Engineer is acceptable to Contractor.
- 10. The Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the Work.
- 11. Contractor's entry into this Contract constitutes an incontrovertible representation by Contractor that without exception all prices in the Agreement are premised upon performing and furnishing the Work required by the Contract Documents.

#### 8.02 Contractor's Certifications

- A. Contractor certifies that it has not engaged in corrupt, fraudulent, collusive, or coercive practices in competing for or in executing the Contract. For the purposes of this Paragraph 8.02:
  - "corrupt practice" means the offering, giving, receiving, or soliciting of anything of value likely to influence the action of a public official in the bidding process or in the Contract execution;
  - 2. "fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process or the execution of the Contract to the detriment of Owner, (b) to establish Bid or Contract prices at artificial non-competitive levels, or (c) to deprive Owner of the benefits of free and open competition;
  - "collusive practice" means a scheme or arrangement between two or more Bidders, with or without the knowledge of Owner, a purpose of which is to establish Bid prices at artificial, non-competitive levels; and
  - 4. "coercive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

### 8.03 Standard General Conditions

A. Owner stipulates that if the General Conditions that are made a part of this Contract are EJCDC® C-700, Standard General Conditions for the Construction Contract (2018), published by the Engineers Joint Contract Documents Committee, and if Owner is the party that has furnished said General Conditions, then Owner has plainly shown all modifications to the standard wording of such published document to the Contractor, through a process such as highlighting or "track changes" (redline/strikeout), or in the Supplementary Conditions.

#### ARTICLE 9-MISCELLANEOUS

#### 9.01 Terms

Terms used in this Agreement will have the meanings stated in the General Conditions

#### 9.02 Severability

Any provision or part of the Contract Documents held to be void or unenforceable under any Law or Regulation shall be deemed stricken, and all remaining provisions shall continue to be valid and binding upon Owner and Contractor, who agree that the Contract Documents shall be reformed to replace such stricken provision or part thereof with a valid and enforceable provision that comes as close as possible to expressing the intention of the stricken provision.

#### 9.03 Emerging Business Enterprise(EBE) Participation

EBE Retainage Requirements – If the Contractor is in compliance with the provisions of the construction Contract the Owner will make payments for such work performed and completed. Pursuant to Executive Order 90-01 (amended 5-8-06); the Owner will retain three percent (3%) of the Contract Price to ensure compliance with the EBE participation requirements. Upon final inspection and acceptance of the Work, and determination by the Fort Wayne Board of Public Works that the Contractor has made a good faith effort to subcontract ten percent (10%) of the Contract Price to emerging business enterprises, the Contractor will be paid in full.

In the event there is a determination that good faith compliance with these EBE participation requirements has not occurred, appropriate reduction in the final payment pursuant to paragraph 9.03.E will be made.

If the Contract Price is in excess of \$200,000, the contract will be subject to the standard Board of Public Works escrow agreement. However, payments to the Contractor are not to exceed 97% of the total Contract Price until the Owner has verified that the Contractor has made good faith efforts to attain the 10% EBE goal stipulated in here within. Payment of the final 3% of the total Contract Price will be dependent upon acceptance of the Work, in accordance with Paragraph 15.06 of the General Conditions, and good faith efforts to comply with these EBE participation requirements; subject to reduction in the event of non-compliance as provided in paragraph 9.03.E.

- A. Request for Waiver If, at the time final payment application is made, Contractor has not attained the ten percent (10%) EBE goal, Contractor shall file with the final payment application a "Request for Waiver." Said Request for Waiver shall contain a written description of the efforts taken by Contractor to attain the ten percent (10%) EBE goal.
- B. Determination of Waiver Requests The Vendor Compliance Department of the City of Fort Wayne shall examine all Requests for Waiver to determine if Contractor's efforts constitute good faith efforts to attain such goal and shall submit recommendations concerning said requests for Waiver for the final determination of the Board of Public Works of the City of Fort Wayne.
- C. Good Faith Efforts. In determining whether or not the Contractor used "good faith" efforts, the following shall be considered:

- 1. Whether the contract can be subdivided as determined by the Engineer and Administrator of Contract Compliance;
- 2. Availability of certified EBE businesses to participate as subcontractors;
- 3. Non-competitive price quotes received from EBE firms. The Board of Public Works' determination for granting a reduction or waiver of the goal because of higher quotes from EBE firms will be based on factors that include, but are not limited to the following:
  - a. The Engineer's estimate for the work under a specific contract;
  - b. The Contractor's own estimate for the work under the subcontract;
  - c. An average of the valid prices quoted for the subcontract;
  - d. Demonstrated increase in other contract costs as a result of sub-contracting to EBE firm(s).
- 4. Documented measures taken by the Contractor to comply with the EBE participation goal;
- 5. EBE subcontractor failed to fulfill their obligation in regard to the time delivery of goods and/or services. Also in regards to the quality of the goods and/or services set forth in the bid specifications.
- 6. Such other matters as the Board of Public Works deems relevant.
- D. Consequences of Noncompliance In the event the Board of Public Works approves a recommendation that Contractor failed to make good faith efforts at compliance, the Contract Price shall be reduced by the amount calculated as the difference between the EBE participation goal of 10% and the actual participation level met by the Contractor, but in no case shall it be reduced by more than 5%. Said amount shall be added to the City of Fort Wayne EBE Bond Guarantee Fund and Contractor agrees to accept the reduced amount as full payment under the terms of his/her Contract.
- E. Waiver Approved In the event the Board of Public Works determines that a good faith effort to comply with these EBE participation requirements has been made, the Contract Price shall not be reduced, and the balance owing to the Contractor shall be paid in full.

# <u>ACKNOWLEDGMENT</u>

| STATE OF INDIANA)  |   |                       |
|--|---|-----------------------|
| SS: ) COUNTY OF ALLEN)   |   |                       |
| COOKIT OF ALLERY   |   |                       |
| BEFORE ME, a Notary Public, in and for said Cou  | unty and State, thisday of                    | ,20 ر                 |
| personally appeared the within named   | who being by me first duly swo<br>ofand as su | rn upon               |
| his oath says that he is the   | ofand as su                                   | ch duly               |
|  | t and acknowledged the same as the voluntary  | act and               |
| deed of for the uses a   | nd purposes therein set forth.                |                       |
| IN WITNESS WHEREOF, hereunto subscribed my   | , name, affixed my official seal.             |                       |
|  | Notary Public                                 |                       |
|  |   |                       |
|  | Printed Name of Notary                        |                       |
| My Commission Expires:   |   |                       |
|  |   |                       |
| Resident of County.  |   |                       |
| ACKNO  | OWLEDGMENT                                    |                       |
| STATE OF INDIANA )   |   |                       |
| SS: )  |   |                       |
| COUNTY OF ALLEN )  |   |                       |
| personally appeared the within named Sharon T Guerrero, and Michelle Fulk-Vondran, by me pethey are respectively the Mayor of the City of For Board of Public Works of the City of Fort Wayne behalf of the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the voluntary act and deed of said City for the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with fut be in the City of Fort Wayne, Indiana, with the City of Fort Wayne, Indiana, |   | d that<br>f the<br>on |
| IN WITNESS WHEREOF, hereunto subscribed my   | y name, affixed my official seal.             |                       |
|  | Notary Public                                 |                       |
|  | Printed Name of Notary                        |                       |
| My Commission Expires:   |   |                       |
| Resident of County.  |   |                       |

| IN WITNESS WHEREOF, Owner and Control of the contro | actor have signed this Agreement (Contract/Resolution Number |
|--|--|
| This Agreement will be effective on<br>Agreement).   | (which is the Effective Date of the                          |
| CONTRACTOR   | OWNER  |
| Bunn Excavating, Inc   | CITY OF FORT WAYNE   |
| BY:Print Name  |  |
| TITLE:   | BOARD OF PUBLIC WORKS  |
| DATE: (Date signed by Contractor)  | BY:SHAN GUNAWARDENA, CHAIR                                   |
| Address for giving notices:  | BY:KUMAR MENON, MEMBER                                       |
|  | BY:CHRIS GUERRERO, MEMBER                                    |
|  | ATTEST: MICHELLE FULK-VONDRAN, CLERK                         |
|  | DATE:(Date signed by Board)                                  |

#### 0620R - ILLINOIS ROAD TRAIL AND ROAD IMPROVEMENTS (#9815733)

Owner: Public Works Solicitor: Fort Wayne IN, City of 09/18/2025 02:00 PM EDT

|                                  |  |            |               | Bunn Excavating          | , Inc                        |
|----------------------------------|--|------------|---------------|--------------------------|------------------------------|
| Section Titl Line Item Item Code | Rem Description  | UofM       |               | Unit Price               | Extension                    |
| Illinois Road Trail and R        |  |            |               |                          | \$8,847,944.04               |
| 1 105-06845                      | Construction Engineering   | LS         | 1             | \$134,791.59             | \$134,791.59                 |
| 2 110-01001                      | Mobilization and Demoblization   | LS<br>EA   | 1             | \$553,030.42<br>\$993,33 | \$553,030.42                 |
| 3 107-09358<br>4 107-09367       | Inspection Hote, Deeper than 3 Ft Inspection Hote, 3 ft Deep or Less     | EA         | 15<br>15      | \$571.86                 | \$14,899.95<br>\$8,577.90    |
| 5 201-52370                      | Clearing Right of Way  | LS         | 1             | \$64,264.78              | \$64,264.78                  |
| 6 202-02273                      | Center Curb, Concrete, Remove  | SYS        | 881           | \$10.31                  | \$9,083.11                   |
| 7 202-74035                      | Sign Remove  | EΑ         | 20            | \$80.56                  | \$1,611.20                   |
| 8 203-02000                      | Common Excavation  | CYS        | 3050          | \$65.67                  | \$200,293.50                 |
| 9 203-02070                      | Borrow   | CYS        | 1890          | \$32.36                  | \$61,160.40                  |
| 10 205-12108<br>11 205-12616     | Storm Water Mgmt Budget SWQCP Stormwater Mgmt Implem.                    | DOL<br>LS  | 63587<br>1    | \$1.00<br>\$49,509.89    | \$63,587.00<br>\$49,509.89   |
| 12 205-12618                     | SWQCP Preparation  | LS         | 1             | \$3,007.70               | \$3,007.70                   |
| 13 207-08264                     | Subgrade Treatment, Type II  | SYS        | 12200         | \$20.91                  | \$255,102.00                 |
| 14 211-09264                     | Structure Backfill, Type 1   | CYS        | 631           | \$65.16                  | \$41,115.96                  |
| 15 214-12238                     | Geotextile for Pavement, Type 2A   | SYS        | 3385          | \$4.76                   | \$16,112.60                  |
| 16 303-08210                     | Compacted Aggregate, No. 53, Temporary Driveways                         | TON        | 300           | \$26.65                  | \$7,995.00                   |
| 17 304-07491                     | HMA Patching, Full Depth, C (Undistributed)                              | TON<br>TON | 2000          | \$322.25<br>\$214.84     | \$644,500.00                 |
| 18 304-074910<br>19 306-08034    | HMA Patching, Partial Depth, C (Undistributed) Milling Asphalt, 11/2 in. | SYS        | 1080<br>11958 | \$3.76                   | \$232,027,20<br>\$44,962.08  |
| 20 306-08038                     | Milling Asphalt, 4 in.   | SYS        | 77466         | \$4.30                   | \$333,103.80                 |
|                                  | Milling, Asphalt, 1 in. to 4 is.   | SYS        | 13562         | \$7.47                   | \$101,308.14                 |
| 22 306-08043                     | Milling Transition   | SYS        | 625           | \$3.76                   | \$2,350.00                   |
| 23 401-11526                     | Joint Adhesive   | LFT        | 55457         | \$0.28                   | \$15,527.96                  |
|                                  | HMA, B, 58S, Base, 25mm  | TON        | 1654          | \$105.27                 | \$174,116.58                 |
|                                  | HMA Wedge and Level, Type C  | TON        | 52            | \$161.13                 | \$8,378.76                   |
|                                  | HMA for Temporary Pavement, C<br>HMA, C, 58S, Surface, 12.5mm            | TON<br>TON | 3000<br>9090  | \$105.27<br>\$93.45      | \$315,810.00<br>\$849,460.50 |
|                                  | HMA, C, 58S, Intermed., 19mm   | TON        | 13908         | \$89.16                  | \$1,240,037.28               |
| 29 406-05520                     | Asphalt for Tack Coat  | TON        | 44            | \$687.47                 | \$30,248.68                  |
| 30 601-02241                     | Guardrail, Remove  | LFT        | 53            | \$53.71                  | \$2,846.63                   |
| 31 603-93373                     | Fence, Pedestrian  | LFT        | 100           |                          | \$15,226.00                  |
| 32 604-06070                     | Sidewaik, Concrete   | SYS        | 949           |                          | \$85,827.56                  |
| 33 604-07823                     | Stamped Concrete Sidewalk  | SYS        | 216           | \$194.25                 | \$41,958.00                  |
| 34 604-08086<br>35 604-12083     | Curb Ramp, Concrete Detectable Warning Surface                           | SYS<br>SYS | 755<br>121    | \$226.05<br>\$154.47     | \$170,667.75<br>\$18,690.87  |
| 36 604-C0001                     | Trail Surface  | SYS        | 8898          | \$33,45                  | \$297,638.10                 |
| 37 604-FWR07                     | Sidewalk Trench Crossing, Trail  | EA         | 11            | \$8,915.69               | \$98,072.59                  |
| 38 605-02493                     | Curb, Island Concrete  | SYS        | 29            | \$230.95                 | \$6,697.55                   |
| 39 605-06140                     | Curb and Gutter, Concrete  | LFT        | 237           | \$53.71                  | \$12,729.27                  |
| 40 605-06250                     | Center Curb, C Concrete  | SYS        | 19            |                          | \$4,388.05                   |
| 41 605-64811                     | Curb, Turnout  | ea<br>Let  | 55<br>6882    |                          | \$82,711.75<br>\$140,461.62  |
| 42 605-FWR05<br>43 605-FWR05     | Curb, Concrete, III Curb, Concrete, III (12 in.)                         | LFT        | 198           |                          | \$11,485.98                  |
| 44 610-07488                     | HMA for Approaches, Type C   | TON        | 270           |                          | \$58,006.80                  |
| 45 610-07713                     | PCCP for Approaches, 8 In.   | SYS        | 553           |                          | \$56,433.65                  |
| 46 611-06497                     | Mailbox Assembly, Single   | EA         | 4             | \$456.53                 | \$1,826.12                   |
| 47 616-06405                     | Riprap, Revetment  | TON        | 46            |                          | \$3,461.04                   |
| 48 616-12249                     | Geotextile for Riprap, Type 2B   | SYS        | 60            |                          | \$1,536.00                   |
| 49 618-03812                     | Bench Mahliyation and Domoh For Sand                                     | EA<br>Ea   | 4<br>8        |                          | \$10,097.28<br>\$4,296.72    |
| 50 621-01004<br>51 621-06554     | Moblization and Demob. For Seed. Mulched Seeding, U                      | SYS        | 14254         |                          | \$49,746.46                  |
| 52 621-08161                     | Permanent Turf Reinf. Mat, Roadway                                       | SYS        | 58            |                          | \$2,492.26                   |
| 53 715-46000                     | Pipe End Section, Dia. 12 in.  | EA         | 7             |                          | \$2,573.13                   |
| 54 715-46005                     | Pipe End Section, Dia. 15 In.  | EA         | 5             | \$414.41                 | \$2,072.05                   |
| 55 715-46010                     | Pipe End Section, Dla. 18 In.  | EA         | 2             |                          | \$874.78                     |
| 56 715-46020                     | Pipe End Section, Dia. 24 In.  | EA         | 3             |                          | \$2,512.38                   |
| 57 715-94530                     | Adjust Water Valve to Grade  | LFT        | 9             |                          | \$2,925.09                   |
|                                  | Pipe - 12" RCP, Class III Pipe - 15" RCP, Class III                      | lft<br>lft | 329<br>629    |                          | \$22,375.29<br>\$47,281.93   |
|                                  | Pipe - 18" RCP, Class III  | LFT        | 230           |                          | \$18,137.80                  |
|                                  | Pipe - 24" RCP, Class III  | EA         | 649           |                          | \$59,740.45                  |
|                                  | Casting - 24" Solid Storm Casting & Adjust to Grade                      | EA         | 3             | \$541.21                 | \$1,623.63                   |
| 63 720-02609                     | Manhole, Type H2   | EA         | 1             |                          | \$4,115.75                   |
| 64 720-03757                     | Manhole, Type C15  | EA         | 1             |                          | \$3,936.37                   |
| 65 720-45410                     | Manhole, Type C4   | EA<br>EA   | 5<br>3        |                          | \$15,449.55<br>\$12,347.25   |
| 66 720-90129<br>67 720-90349     | Manhole, Type 32 Manhole, Type C8  | EA         | 2             |                          | \$12,347.25<br>\$6,813.58    |
| 68 720-90984                     | Manhole, Type C2   | EA         | 1             |                          | \$3,557.18                   |
|                                  | **   |            |               |                          |                              |

| 69 720 | 0-94612  | Manhole, Type K4  | EA         | 1      | \$4,674.32   | \$4,674.32     |
|--------|----------|---|------------|--------|--------------|----------------|
|        |          | Manhole, Type J4  | EA         | 3      | \$3,648.49   | \$10,945.47    |
|        |          | Fire Hydrant Assembly, Relocate   | EA         | 2      | \$2,185.24   | \$4,370.48     |
|        |          | Manhole, Type K2  | EA         | 1      | \$5,141.59   | \$5,141.59     |
|        |          | Casting, Adjust to Grade  | EA         | 53     | \$311.95     | \$16,533,35    |
|        |          |   | EA         | 4      | \$2,605.46   | \$10,421.84    |
|        |          | Inlet - Precast 30" Round Inlet, B  |            |        |              |                |
|        |          | Inlet - Precast 30" Round inlet, C  | EA EA      | 6      | \$3,865.47   | \$23,192.82    |
|        |          | Inlet - Precast 33" Round Inlet, A  | EΑ         | 4      | \$2,734.36   | \$10,937.44    |
| 77 720 | 0.FWR17  | Inlet - Precast 33" Round Inlet, B  | EA         | 8      | \$2,734.36   | \$21,874.88    |
| 78 720 | 0-FWR17  | Inlet - Precast 33" Round Inlet, C  | EA         | 1      | \$3,435.80   | \$3,435.80     |
| 79 73  | 2-11810  | Modular Block Wall  | SFT        | 458    | \$74.21      | \$33,988.18    |
| 80 80: | 1 06207  | Temp. Pvmt Mark, Removable, 4 in.   | LFT        | 143158 | \$1.64       | \$234,779.12   |
| 81 80  | 1-06207  | Temp. Pvmt Mark, Removable, 5 in.   | LFT        | 8948   | \$2.41       | \$21,564.68    |
|        | 1-06209  | Temp. Pvmt Mark, Removable, 6 in.   | LFT        | 2388   | \$2.63       | \$6,280.44     |
|        | 1-06211  | Temp. Pymt. Mess. Mkg. Remey.   | EA         | 105    | \$194.43     | \$20,415.15    |
|        | 1-06216  | Temp. Trans. Pymt. Mgk, Remov. 24 ft  | LFT        | 1764   | \$12.50      | \$22,050.00    |
|        |          |   | EA         | 72     | \$264.25     | \$19,026.00    |
|        | 1-06640  | Construction Sign, Type A   |            |        |              |                |
|        | 1-06645  | Construction Sign, Type 8   | EA         | 7      | \$136.42     | \$954.94       |
|        | 1.06710  | Flashing Arrow Sign   | DAYS       | 105    | \$17.19      | \$1,804.95     |
| 88 80  | 1-07119  | Barricade, III-B  | LFT        | 528    | \$17.12      | \$9,039.36     |
| 89 80  | 2-03126  | Sign, Overhead, Relocate  | EA         | 18     | \$161.13     | \$2,900.34     |
| 90 80  | 2-05701  | Sign Post, Square, Type 1, Reinf. Anch.   | ŁFT        | 444    | \$19.34      | \$8,586.96     |
| 91 80  | 2-09838  | Sign, Sheet, W Legend, 0.080 Thick  | SFT        | 36     | \$16.11      | \$579.96       |
| 92 80  | 2-09840  | Sign, Shoet, W Legend, 0.100 Thick  | SFT        | 210    | \$26.85      | \$5,638,50     |
|        | 05-01300 | Traffic Signal Equipment, Remove (Pedestrian Pole, Foundation, and Attachments) | EA         | 1      | \$805.64     | \$805.64       |
|        | 05-01300 | Traffic Signal Equipment, Remove (Push Buttons)                                 | EA         | 6      | \$1,074.18   | \$6,445.08     |
|        |          |   | LS         | 1      | \$6,982.17   | \$6,982.17     |
|        | 05-01579 | Miscellaneous Equipment for Traffic Signals                                     |            |        |              |                |
|        | 05-01828 | Traffic Signal Head, Realign (or Relocate)                                      | EA         | 24     | \$1,611.27   | \$38,670.48    |
|        | 05-01842 | Handhole, Signal, Adjust to Grade   | EA         | 9      | \$966.76     | \$8,700.84     |
| 98 80  | 05-01842 | Handhote, Signal, Type 1  | EA         | 3      | \$1,611.27   | \$4,833.81     |
| 99 80  | 05-01844 | Conduit, Steel, Galvanized, 2 In.   | LFT        | 3036   | \$37.60      | \$114,153.60   |
| 100 80 | 05-01844 | Conduit, Steel, Galvanized, 2 In.   | LFT        | 163    | \$37.60      | \$6,128.80     |
| 101 80 | 05-02087 | Transportation of Salvageable Signal Equipment                                  | LS         | 1      | \$2,685.45   | \$2,685.45     |
| 102 80 | 05-02150 | Pedestrian Signal Head, Countdown, 18 in. (relocate)                            | EA         | 2      | \$268.55     | \$537.10       |
|        | 05-02150 | Pedestrian Signal Head, Countdown, 18 in  | EΑ         | 37     | \$778.78     | \$28,814.86    |
|        | 05-02392 | Signat Pote Foundation, 36 in x 72 in   | EΑ         |        | \$0.00       | \$0.00         |
|        | 05-02445 | Controller and Cabinet, Type P1 (remove ex. And install New)                    | EΑ         | 6      | \$2,148.36   | \$12,890.16    |
|        |          |   | EA         |        | \$832.49     |                |
|        | 05-05405 | Signal Pole, Pedestal, 4Ft  |            | 13     |              | \$10,822.37    |
|        | 05-08129 | Signal Cable (CAT 5 Communication Cable)  | LFT        | 8571   | \$7.25       | \$62,139.75    |
| 108 60 | 95-11817 | Pedestrian Button, APS  | EA         | 37     | \$1,906.67   | \$70,546.79    |
| 109 80 | 05-78205 | Traffic Signat Head, No. 3 Section, 12 In.                                      | EA         | 3      | \$853.97     | \$2,561.91     |
| 110 80 | 05-78480 | Signal Cable, Control, Copper 3C/14Ga   | LFT        | 5524   | \$4.30       | \$23,753.20    |
| 111 80 | 05-78485 | Signal Cable, Control, Copper 5C/14Ga   | LFT        | 5487   | \$5.37       | \$29,465.19    |
| 112 80 | 05-78490 | Signal Cable, Control, Copper 7C/14Ga   | LFT        | 307    | \$9.67       | \$2,968.69     |
|        | 05-90005 | Signal Pole, Pedestal, 10 ft  | EA         | 16     | \$1,074.18   | \$17,186.88    |
|        | 05-FWR50 | Video Detection System, Miovision Core w/Detection Plus Bundle                  | EA         | 8      | \$28,986.73  | \$231,893.84   |
|        | 05-FWR51 | Video Detection System, Miovision Intersection 360 Bell                         | EA         | 16     | \$5,370.90   | \$85,934.40    |
|        |          | · ·   | EΑ         | 20     | \$4,833.81   | \$96,676.20    |
|        | 05-FWR52 | Video Detection System, Miovision Smartview Approach                            |            |        |              |                |
|        | D5-FWR53 | Video Detection Hardware, Miovision Poe Switch (Trendnet TiPg541)               | EA         | 18     | \$2,685.45   | \$48,338.10    |
| 118 80 | 07-02822 | Light Pole, Steel, Relocate   | EA         | 5      | \$1,611.27   | \$8,056.35     |
| 119 80 | 07-04922 | Light Standard Foundation   | EA         | 5      | \$2,094.65   | \$10,473.25    |
| 120 80 | 07-86843 | Wire, No 4 Copper, 1/C  | LFT        | 2594   | \$16,11      | \$41,789.34    |
| 121 80 | 08-10031 | Line, Multi-Comp, Broken, White, 4 in.  | LFT        | 20958  | \$1.20       | \$25,149.60    |
| 122 80 | 08-10033 | Line, Multi-Comp, Solid, White, 4 in.   | LFT        | 17822  | \$1.01       | \$18,000.22    |
| 123 80 | 08-10034 | Line, Multi-Comp, Solid, Yellow, 4 in   | LFT        | 22343  | \$1.01       | \$22,566.43    |
|        | 08-10036 | Line, Multi-Comp, Broken, Yellow, 4 in  | LFT        | 8288   | \$1.20       | \$9,945.60     |
|        | 08-10037 | Line, Multi-Comp, Solid, White, 12 in.  | LFT        | 836    | \$3,88       | \$3,243.68     |
|        |          |   | LFT        | 4674   | \$1.94       | \$9,067.56     |
|        | 08-10037 | Line, Multi-Comp, Solid, White, 8 in.   |            |        |              |                |
|        | 08-10051 | Trans. Mkg, Multi-Comp, Stop, 24 in.  | LFI        | 1312   | \$14.65      | \$19,220.80    |
|        | 08-10052 | Pvmt. Mess. Mkg, Mult-Component, Only   | EA         | 10     | \$258.88     | \$2,588.80     |
|        | 08-10056 | Trans. Mkg., Multi-Comp, Crosswalk, White, 6 in.                                | LFT        | 514    | \$5,89       | \$3,027.46     |
| 130 80 | 08-10058 | Line, Multi-Comp, Solid, Yellow, 8 in   | LFT        | 1432   | \$1.94       | \$2,778.08     |
| 131 80 | 08-10059 | Line, Multi-Comp, Solid, Yellow, 12 in  | LFT        | 509    | \$3.88       | \$1,974.92     |
| 132 80 | 08-10077 | Pvmt. Mess. Mkg., Multi-Comp, Lane Arrow  | EA         | 98     | \$237.39     | \$23,264.22    |
|        | 08-10097 | Pvmt, Mess. Mkg., Multi-Comp, Yield, 27 in                                      | LFT        | 30     | \$19.57      | \$587.10       |
|        | 08-10099 | Trans, Mkg, Multi-Comp, Cross., White, 24                                       | រេក        | 1312   | \$14.65      | \$19,220.80    |
|        | 08-11481 | Line, Multi-Comp, Dotted, White, 4 in.  | LFT        | 257    | \$5.27       | \$1,354.39     |
|        |          | Line, Multi-Comp, Dotted, Yellow, 4 in.   | អ្ន        | 219    | \$5.27       | \$1,154.13     |
|        | 08-11548 |   |            |        | \$164,741.91 | \$164,741.91   |
|        | 01-06775 | Maintaining Traffic   | LFT<br>eet | 200    |              |                |
|        | 08-95638 | Center Curb Painting  | SFT        | 290    | \$17.66      | \$5,121.40     |
|        | 23-FWR19 | Topsoil   | TON        | 2375   | \$45.12      | \$107,160.00   |
|        | 05-02645 | Signal Pole Foundation, 24 in. X 24 in. X 36 in.                                | EA         | 29     | \$1,074.18   | \$31,151.22    |
| 141 60 | 07-06335 | Paved Side Ditch, Type A  | LFT        | 781    | \$55.86      | \$43,626.66    |
|        |          |   |            |        |              | \$250,000.00   |
| 142 10 | 0904299  | Work Allowance  | DOL        | 250000 | \$1.00       | \$250,000.00   |
|        |          |   |            |        |              | \$9,097,944.04 |
|        |          |   |            |        |              |                |

# **Drug Policy Acknowledgement Form**

| Contractor acknowledges the City of Fort Wayne has in place a Drug and Alcohol Policy that applies to any Contractor   |
|--|
| doing business with the City. A copy of this policy is available for inspection on the City of Fort Wayne website at:  |
| http://www.cityoffortwayne.org/purchasing-home.html. As a condition of being awarded any contract, the successful      |
| bidder shall sign this Drug Policy Acknowledgement and agree to be bound by those provisions of the policy that may be |
| applicable. A copy of this form will be retained by the City of Fort Wayne.  |

| The undersigned, on behalf of the Contractor deposes and states that the Contractor acknowledges the City of Fo<br>Wayne's Alcohol and Drug Policy. | rt |
|---|----|
| Name of Company   |    |
| Ву:   |    |

Name and Title

# E-Verify Affidavit

Pursuant to Indiana Code 22-5-1.7, Contractor agrees and shall enroll in and verify the work eligibility status of all newly hired employees of the contractor through the E-Verify program. E-Verify means the electronic verification of work authorization program of the Illegal Immigration Reform and Immigration Responsibility Act of 1996 (P.L. 104-208). Division C, Title IV, s.403(a), as amended, operated by the United States Department of Homeland Security or a successor work authorization program designated by the United States Department of Homeland Security or other federal agency authorized to verify the work authorization status of newly hired employees under the Immigration Reform and Control Act of 1986 (P.L. 99-603). Contractor is not required to verify the work eligibility status of all newly hired employees of Contractor through the E-verify program if the E-Verify program no longer exists.

The undersigned, on behalf of the Contractor, being first duly sworn, deposes and states that the Contractor does not knowingly employ an unauthorized alien. The undersigned further affirms that, prior to entering into its contract with the City, the undersigned Contractor will enroll in and agrees to verify the work eligibility status of all its newly hired employees through the E-Verify program.

|   | Name of Company                                     |
|---|---|
| By:   | mul.  |
|   | Title   |
| ACKNOWLEI   | DGEMENT   |
| STATE OF INDIANA ) ) SS   |   |
| COUNTY OF ALLEN ) SS  |   |
| Before me, a Notary Public, in and for said State and Count Name, Title, who being first duly sworn upon his/her oath s Contractor, and as such duly authorized to execute the foreghis/her voluntary act and deed. | tates that he/she is a duly authorized agent of the |
| WITNESS my hand and seal this day of  | , 20  |
| My Commission Expires:  | _   |
|   | Signature of Notary Public                          |
| Resident of County  |   |
|   | Printed Name  |

# COUNCIL DIGEST SHEET

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Public Works is providing this information to Council as an overview of this award.

# ILLINOIS ROAD TRAIL AND ROAD IMPROVEMENTS

## **RFPs & BIDS**

| Bid/RFP#                      | 0620R  |
|-------------------------------|--|
| Awarded To                    | Bunn Excavating, Inc   |
| Amount                        | 9,097,944.04   |
| Conflict of interest on file? | N/A  |
| Number of Registrants         | 9  |
| Number of Bidders             | 4  |
| Required Attachments          | Council Digest Supplemental, Bid Tabulation, Award, Contract |

# **EXTENSIONS**

| Date Last Bid Out    | N/A |
|----------------------|-----|
| # Extensions Granted | N/A |
| To Date              |     |

## SPECIAL PROCUREMENT

| Contract #/ID               | 0620R |
|-----------------------------|-------|
| (State, Federal,            |       |
| PiggybackAuthority)         |       |
| Sole Source/                | N/A   |
| Compatibility Justification |       |

# BID CRITERIA (Take Buy Indiana requirements into consideration.)

| Most Responsible,<br>Responsive Lowest | X Yes | □ No | If no, explain below |  |
|--|-------|------|----------------------|--|
| If not lowest, explain                 | N/A   |      |                      |  |

# COUNCIL DIGEST SHEET

# **COST COMPARISON**

| Increase/decrease amount |     |
|--------------------------|-----|
| from prior years         | N/A |
| For annual purchase      |     |
| (if available).          |     |

# **DESCRIPTION OF PROJECT / NEED**

| Identify need for project & describe project; attach | Please see attached Council Digest Supplemental |
|--|---|
| supporting documents as                              |   |
| necessary.   |   |

# REQUEST FOR SUSPENSION OF RULES

| Provide justification if                         |     |
|--|-----|
| Provide justification if prior approval is being | N/A |
| requested.                                       |     |
|  | ·   |
|  |     |
|  |     |

# **FUNDING SOURCE**

| Account Information. | TIF  |
|----------------------|--|
|                      | Next Level Trails grant from State of Indiana for \$1,000,000.00 |
|                      | Donor funds from Fort Wayne Trails, Inc for \$9,000.00           |
|                      | LIT-ED (CEDIT)   |
|                      |  |
|                      |  |



## **COMMON COUNCIL DIGEST SHEET – SUPPLEMENTAL**

# Illinois Rd Trail & Road Improvements

# **Action Requested:**

Requesting an Ordinance approving the **Illinois Rd Trail & Road Improvements** project pursuant to the Board of Public Works Resolution #**0620R** and an award to **Bunn Excavating, Inc** in the amount of **\$9,097,944.04**.

Note: Bunn Excavating was the lowest, most responsive bidder among 4 bidders

# **Description and Scope of the Work:**

Improve Illinois Road from the right of way of Interstate 69 to Rockhill Park with resurfacing from Grand National Drive/Magnavox Way to West Jefferson; widening of the road from Getz Road to the Avenue of Autos; inclusion of offset turn lanes at four intersections; narrowing the lane width to 11 feet; and constructing a 10-foot-wide multi-use trail from Getz Road to North Rockhill Park. The project includes intersection improvements, roadway widening, lane narrowing, multi-use trail, new curb, retaining wall, stormwater improvements, maintenance of traffic, traffic signal upgrades, ADA curb ramps, park benches.